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1.  Provide a short answer to each of the following (sometimes even one word).

a.  What does EVA tell us about a company?

b.  What are two implications of risk aversion on investor behavior?

c.  Suppose that because of an acquisition the standard deviation of returns on House for Sale Inc. has fallen but the beta of House for Sale Inc. has risen.  Will investors demand a higher or lower return on House for Sale as a result?

d.  What basic assumption drives the results of the Liquidity Preference Theory?

e.  Why does the fact that ratios are usually calculated using accounting numbers limit the usefulness of ratio analysis?

Use the following information and the information in the attached 1997 10-K from Dell to answer questions 2 & 3.

Additional information from the footnotes of Dell’s 10-K

1)  Research and development expenses for the past 6 years were as follows:  97=88; 96=62; 95=39; 94=25; 93=19; 92=10

2)  Interest income for the past 3 years was:  97=40; 96=21; 95=5

3)  Cash taxes paid for the past 3 years was:  97=178; 96=117; 95=57

4)  Dell’s inventory is calculated using the FIFO method

5)  Interest expense for the past 3 years was:  97=7; 96=15; 95=12

6)  Other current assets includes deferred tax assets as follows:  97=133; 96=67; 95=78

2.
a.  What was Dell’s ROE in 1997 and 1996?

b.  What does DuPont Analysis reveal about the reasons for the change in ROE?

c.  What additional information would you need to determine if Dell’s ROE is high or low?

3.  Calculate Dell’s capital that would be used in determining its EVA for 1997.

4.  Three years ago, you deposited $500 in a savings account that pays 4.2% per year compounded monthly.  Since that first deposit, you have made quarterly deposits that have grown by 1% each quarter with the last deposit being made six months ago.  Today, you would like to make the first of 24 fixed, monthly withdrawals.  How much can you withdraw each month?

5.   Assume that you have collected the following information on assets A, B, and C. 


Return on:

Year
A
B
1994
14%
14%

1995
27%
12%

1996
19%
28%

The average rate of return on C over the past 3 years is 11%

The standard deviation of returns on C over the past 3 years is 3.21%

The covariance between A and C over the past 3 years is 20.5

The covariance between B and C over the past 3 years is -13

a.  Sketch assets A, B, and C on a risk return graph.

b.  On the same graph sketch a reasonable feasible set that could be achieved by combining only A and B.

c.  On the same graph sketch a reasonable feasible set that could be achieved by combining only B and C.

Note:  Calculations are necessary and covariances between A and C and between B and C have been calculated expressing returns in percentage rather than decimal form.
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6.  The return on a one-year Treasury note is 5.72%, on a two-year Treasury note is 5.86%, and on a three-year Treasury note is 5.96%.  The return on a one-year Treasury strip is 5.69%, on a two-year Treasury strip is 5.87%, and on a three-year Treasury strip is 5.94%.  

a.  What do these rates imply will happen to real and nominal interest rates over the next several years if the expectations hypothesis is correct?

b.  What do these rates imply will happen to real and nominal interest rates over the next several years if the inflation risk hypothesis is correct?

Answers

1.  a. whether firm is creating wealth for its stockholders [1] by earning an economic profit [1] by at least covering the cost of the capital it is using [1].

b. 1)  investors must be compensated for taking on more risk; 2) investors pursue diversification.

c.  rise

d.  market dominated by short-term investors

e. 1)  sensitive to accounting method; 2) accounting numbers reflect costs not values; 3) accounting numbers reflect “revenues” and “expenses” not cash flows

Points:  a. [+10/+3/+2:  10 points for first of the 3 issues discussed, 3 points for the second of the 3 issues discussed, +2 for third of the 3 issues discussed]; b. [+10/+5]; c. [+15]; d. [+15]; e. [+10/+5]
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Primarily:  increase in leverage (assets per $ of equity), asset turnover, and profit margin

c.  Industry averages

Points:  a.  [+6 for each year (partial)]; b. [+3 for each number; +6 for each reason]; c. [+9]

3.  
Operating cash 
55


+ Receivables 
726



+ Inventory 
429



+ Other current assets 
89



+ Plant & Equipment 
179



+ Intangible Assets 
0



+ Capitalized R&D
117.8
=62+.8(39) + .6(25) + .4(19) + .2(10)


+ Other Assets
12


- Current Liabilities 
-929 



Capital
668.8

Points:  [+6 each] except Operating cash, Other current assets, and Capitalized R&D [+13 each]

Midterm; F5360; Fall, 1997; 9:30 Class; page 3 of 6
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; equation [+7], C [+3], 24 [+3], final answer [+1]
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Points on graph:  A, B, and C [+3 each], feasibles [+7 each], axis [+1 each]

6.  
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a.  nominal rates => rise [+10] from 5.87 to 6.05 to 6.08 [+5]; real => no implication [+5]

b.  nominal rates => unclear (may increase or decrease) [+10], but less than 6.05 next year and less than 6.08 the year after that [+10]; real => no implication [+5]

                          DELL COMPUTER CORPORATION

                  CONSOLIDATED STATEMENT OF FINANCIAL POSITION

                        (IN MILLIONS, EXCEPT SHARE DATA)

                                     ASSETS

                                                              FEBRUARY 2,   JANUARY 28,

                                                                 1997          1996

                                                              -----------   -----------

Current assets:

  Cash......................................................    $  115        $   55

  Marketable securities.....................................     1,237           591

  Accounts receivable, net..................................       903           726

  Inventories...............................................       251           429

  Other current assets......................................       241           156

                                                                ------        ------

          Total current assets..............................     2,747         1,957

Property, plant and equipment, net..........................       235           179

Other assets................................................        11            12

                                                                ------        ------

                                                                $2,993        $2,148

                                                                ======        ======

                         LIABILITIES AND STOCKHOLDERS' EQUITY

Current liabilities:

  Accounts payable..........................................    $1,040        $  466

  Accrued and other liabilities.............................       618           473

                                                                ------        ------

          Total current liabilities.........................     1,658           939

Long-term debt..............................................        18           113

Deferred revenue on warranty contracts......................       219           116

Other liabilities...........................................        13             7

Commitments and contingencies...............................        --            --

                                                                ------        ------

          Total liabilities.................................     1,908         1,175

                                                                ------        ------

Put options.................................................       279            --

                                                                ------        ------

Stockholders' equity:

  Preferred stock and capital in excess of $.01 par value;

     shares authorized: 5,000,000; shares issued and

     outstanding: none and 60,000, respectively.............        --             6

  Common stock and capital in excess of $.01 par value;

     shares authorized: 300,000,000; shares issued and

     outstanding: 173,047,420 and 186,893,214,

     respectively...........................................       195           430

  Retained earnings.........................................       647           570

  Other.....................................................       (36)          (33)

                                                                ------        ------

          Total stockholders' equity........................       806           973

                                                                ------        ------

                                                                $2,993        $2,148

                                                                ======        ======

                                       25

                           DELL COMPUTER CORPORATION

                        CONSOLIDATED STATEMENT OF INCOME

                      (IN MILLIONS, EXCEPT PER SHARE DATA)

                                                                        FISCAL YEAR ENDED

                                                            -----------------------------------------

                                                            FEBRUARY 2,    JANUARY 28,    JANUARY 29,

                                                               1997           1996           1995

                                                            -----------    -----------    -----------

Net sales.................................................    $7,759         $5,296         $3,475

Cost of sales.............................................     6,093          4,229          2,737

                                                              ------         ------         ------

  Gross margin............................................     1,666          1,067            738

                                                              ------         ------         ------

Operating expenses:

  Selling, general and administrative.....................       826            595            424

  Research, development and engineering...................       126             95             65

                                                              ------         ------         ------

          Total operating expenses........................       952            690            489

                                                              ------         ------         ------

          Operating income................................       714            377            249

Financing and other income (expense), net.................        33              6            (36)

                                                              ------         ------         ------

  Income before income taxes and extraordinary loss.......       747            383            213

Provision for income taxes................................       216            111             64

                                                              ------         ------         ------

  Income before extraordinary loss........................       531            272            149

Extraordinary loss, net of taxes..........................       (13)            --             --

                                                              ------         ------         ------

  Net income..............................................       518            272            149

Preferred stock dividends.................................        --            (12)            (9)

                                                              ------         ------         ------

Net income available to common stockholders...............    $  518         $  260         $  140

                                                              ======         ======         ======

Primary earnings per common share:

  Income before extraordinary loss........................    $ 2.77         $ 1.34         $ 0.85

  Extraordinary loss, net of taxes........................      (.07)            --             --

                                                              ------         ------         ------

  Earnings per common share...............................    $ 2.70         $ 1.34         $ 0.85

                                                              ======         ======         ======

Fully diluted earnings per common share:

  Income before extraordinary loss........................    $ 2.70         $ 1.32         $ 0.79

  Extraordinary loss, net of taxes........................      (.07)            --             --

                                                              ------         ------         ------

  Earnings per common share...............................    $ 2.63         $ 1.32         $ 0.79

                                                              ======         ======         ======

Weighted average shares outstanding:

  Primary.................................................     191.8          194.2          166.2

  Fully diluted...........................................     197.1          197.4          189.3

                                       26
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